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A=A A

BTl I EA

SR AASO AR (EH2 &)

A -3 -H2A(SH) - HEAMY - BES Ol koK JIE N Hlns2t
0fl 51 B 2,636,276 5,529,836 A2,893,560
ofl bl dl 2,636,276 5,529,836 2,893,560
ol Hi bl 2,636,276 5,529,836 2,893,560
801 OilHlHI 2,636,276 5,529,836 A2,893,560
01 oilglbl 2,636,276 5,529,836 A2,893,560
02008 & 0l H| 23 2,636,276,000 2,636,276 5,529,836 A2,893,560
HHESAAHI (D=0 aA) 76,134 84,260 N8,126
olai 2| 5,700 6,000 A300
I 2A2HALFXH (DS EY) 5,700 6,000 A300
203 & P F XY 5,700 6,000 A300
04 BEARIYLFTAY 2,700 3,000 A300
ORKNSY ASFAH (MEPHBOIH0 A Z2H) A 2,700,0002 2,700 3,000 A300
Il 23 70,434 78,260 NT7,826
Jlalge |23 22,554 25,060 A2,506
201 LEHR2AH 15,174 16,860 A 1,686
01 At22|H| 13,500 15,000 A1,500
O =11y 10,800 12,000 A1,200
ORKNRY SUAHM(MESIHHOIH0AZ2LNY) Z3 10,800,000 10,800 12,000 A1,200
Ol=2ul] 2,700 3,000 A300
ORKNRY SUAHMN(MESIHHOIH0AZ2LH) 2 2,700,0002 2,700 3,000 A300
02 3329 1,674 1,860 A 186
o[zl 1,314 1,500 A 186
ORANEY LHUAE ASHI (MY OISO A2 H) 23X 1,314,0002 1,314 1,500 A 186
202 01 H 6,480 7,200 AT20
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A2 0 AA

BN 2 QA (012 0f aral

cHe D 2 A H|

M
0

£l
0

I
x
12

e

0l
0

2 & 6,480,000

6,480
6,480

7,200
7,200

NT20
AT20

900

1,000

A 100

X 900,0008!

900
900

1,000
1,000

A 100
A 100

33,840

37,600

A3,760

27,360

30,400

A3,040

Jal

H e (ME=Z 200

Il EU(MAES

0y

16,200, 000&

0

0y o¥
0z 0

R

oy
04

0
b

0

25,794
23,634
16,200

3,870
3,564
2,160
2,160
1,566
1,566
1,566

28,660
26,260
18,000

4,300
3,960
2,400
2,400
1,740
1,740
1,740

A2,866
N2,626
A 1,800

2430
A 396
A 240
A 240
2174
AT74
2174

202 OfHl

6,480

7,200

AT20

01 =LYl

ORNEY UL (MBS

6,480
6,480

7,200
7,200

NT20
AT20

2 AIE S D2 AH|

7,236

8,040

N804

201 Zer2g

3,996

4,440

N444

01 AtRZelyl

3,996

4,440

N444




Rl PN
BB E 2 A (O] 2 0 4

CHe D[ =AY (el &)
A -3 -H2A(SH) - HEAMY - BES Off &K JlEH Hlns2t

olger=g4l] 2,556 3,000 N444

ORANRY SUHM(MYESHOI YO AZ2NH) 3 2,556,000 2,556 3,000 N444

202 Of 3,240 3,600 A360

01 2U0il 3,240 3,600 A360

ORAN2Y SUHAM(MESHOI M AZ2H) 33X 3,240,000 3,240 3,600 A360

HRol5 EHY Jl2AY 6,804 7,560 AT56

201 2LEr2 A 3,564 3,960 A396

01 At222|H| 3,564 3,960 1396

olger+=g4l] 2,604 3,000 N 396

ORANRY SUHM(MYESHBOI Y AZ2NH) 33X 2,604,000 2,604 3,000 1396

202 01 H 3,240 3,600 360

01 2U0itl 3,240 3,600 A360

ORNMESZE SUHA(MESH OISO AR 2HH) Z2& 3,240,000 3,240 3,600 A360

WRES (D20 aA) 2,680,643 0 2,680,643

=RSPAES 2,680,643 0 2,680,643

J12 0 A BE XS 2,680,643 0 2,680,643

802 gtet32J|Ef 2,680,643 0 2,680,643

01 =2DnLx3praza 1,880,439 0 1,880,439

OANZEHES ZSILAAE 25 147,000 * 14l 147 0 147

OXLs0le T2 22N 84 1,743,0008 » 14l 1,743 0 1,743

OR3 K4 HE A S=H| 362,000 * 14 362 0 362

O06E HEAX 554 FHHY| 6,599,0002 * 14! 6,599 0 6,599

O05E PEel TIILXAHIAY 122,640,000 * 14l 122,640 0 122,640
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S A 112 0l Ak
M THRES (120 Aa)

Cre BENE EGHE)
SN HM . ER(BH) - NTAY - B2 03] & o I & o HmZ2
O07E =2 ALK& AL 155,0008 = 14 155 0 155
OZZoHHEHE XA 15,0008 * 14 15 0 15
OHMEH SN X B XIAHS 13,000& * 14| 13 0 13
OXE XA 485,000 * 14| 485 0 485
OXgZA3(HELSSH) 745,000 * 14| 745 0 745
OXESA ZOUIOIE XI&EHAHS 2,949,000 * 14| 2,949 0 2,949
OS® FOMENALLET 45,0002 * 14 45 0 45
OZoHe &Xtel XA 200,000 = 14 200 0 200
OFofel =2IdE =<0IX& 14,940,000& * 14 14,940 0 14,940
Oss8Me 32X 2,310,000& * 14| 2,310 0 2,310
OZ0=¢< 160,191,000& * 14| 160, 191 0 160, 191
OZoiots=¢ 25,312,000& = 14 25,312 0 25,312
OZoiel o =4l 131,000& = 14 131 0 131
O SSE &t 81,0008 » 14! 81 0 81
OXS A2 MEIA SHA ALY 296,000 = 14 296 0 296
Oo2a=Xx K& 4,748,000& * 14 4,748 0 4,748
OJIzde2&8 =2 dAH| 55,885,000& = 14! 55,885 0 55,885
O ES20IMY 9,227,000& * 14| 9,227 0 9,227
O3d=zd= 14,002,000 *» 14 14,092 0 14,092
ORESOSZLEXE HEXE 470,000 * 14 470 0 470
OJtgEIsSddEsg=XE 961,000& * 14 961 0 961
OXAOLSHE OSSR AKX 9,352,008 * 14 9,352 0 9,352
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S A 112 0l Ak
M THRES (120 Aa)

ce88ls (chel /<)
SAN-ZH-SAFA) - NRAY - BES Ao =
Ogdots 2+ 1,050,000 * 14! 0 1,050
OE=SA&E23dl K& 52,366,000& 14! 0 52,366
o2sg N 1,437,000& * 14! 0 1,437
OBs0Ze1= 2,875,000& * 14l 0 2,875
OMASZENIE NS& 617,000& * 14! 0 617
OMASZEXIE ot 444 000 * 14 0 444
OW& =M A 2=l 39,000 * 14! 0 39
o078 HAI2HOYE FEREEA 12,554,000& * 14! 0 12,554
005 Z4Iloil =4&tTHoH= AAIA) 722,000% * 14 0 722
005 Z4Iloll =4&tTHoH= AAIA) 18,201,000& * 14 0 18,201
Ozlgtd=sg AEX=H 130,000& = 14l 0 130
OELMHEM EXAY 1,000& = 14l 0 1
OHASS EXXNESHAE 45,0003 = 14 0 45
O=sgel 970t =Hl X2AHS 241,0009 * 14 0 241
O06 =41 Atdl 92,934,000& 14l 0 92,934
O06 FTAJIZS X2 XHE A 2 A 10,055,000& * 14 0 10,055
005 ZAIlch THol=7HI( 1,207,610,000& * 14! 0 1,207,610
006 S22 ™2l ALY 245,000 * 14! 0 245
007 JI=gAAY 19,0002 * 14! 0 19
OHEIDHEIAIE 1,160,000& * 14! 0 1,160
OgatE NE AXAE 3,600,000 * 14 0 3,600
O3A= A 24| 329,000 * 14 0 329
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S A 112 0l Ak
M THRES (120 Aa)

CHo RIS ELEEEED)
SN TSR (BH) - NRAY - BES 0l st ol o HRE2

OMAS DEFMZHA 6,402,000& * 14 6,402 0 6,402
oulgus AJI2AMN =& 12,0008 * 14 12 0 12
OsScliid uw=hl 270,000 * 14| 270 0 270
Os2dus YA Oyl 288,000 * 14| 288 0 288
Ot aaa 25 8,751,000& * 14| 8,751 0 8,751
O2aotd EHl 290,000& * 14 290 0 290
OAMEE =St BHSE RuHALY 2,610,000& * 14 2,610 0 2,610
ongey =d2dH| 156,000 = 14 156 0 156
Os0E 2= MHIA JHEALS 85,0008 * 14| 85 0 85
Ogekt o=Hl XA 14,228,000 » 14 14,228 0 14,228
OgRotugds(012) 3,000& = 14 3 0 3
OougdEE sE4H 240012) 533,000& * 14| 533 0 533
Ostdl 2= Xt M HIXI&(=2HI) 479,000 * 14| 479 0 479
OStsd LE22HAY 394,000 * 14 394 0 394
OSLREXN AN 1,204,0008 = 14 1,204 0 1,204
O&EH CHAOI & E A 2,259,000& = 14 2,259 0 2,259
O&t2 Aot ROIXIE AL 14,0002 * 14| 14 0 14
OXIDHZD1& A AFEHI 168,000& = 14| 168 0 168
02006F = MHchAlE SHALS 1,525,000 = 14 1,525 0 1,525
02 Al -EHEXSEE=S 800,204 0 800,204
OZ=Lste 2208 22l E4 468,000% * 14 468 0 468
OZst=4t &AL #SHI 244,0008 = 14 244 0 244
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S A 112 0l Ak
M THRES (120 Aa)

CHo B RS (ol @)
SN HE L SR(SIH) - MBAY - BAS 0l &k 24 017 o HlnE2

OZ3t= 4t &AL TI=H| 12,000 * 14 12 0 12
O06E HS MKl 5838 E =HEH| 849,000 * 14 849 0 849
OooeE el NAEZ F=HFY| 772,000& * 14 772 0 772
OogE 83202 =&Y 601,000& * 14 601 0 601
006 dle| D2 =HEFHI 2,465,000& » 14 2,465 0 2,465
O0sE Rdel EJIRA EHIAY 26,280,000& = 14 26,280 0 26,280
Oo7d &l dAFF=HA EHUIALS 3,821,000& * 14l 3,821 0 3,821
O07d 2IMESTE SHE=F2| 1,463,000& * 14 1,463 0 1,463
OFXNNHHEEY HRHAT el 34,0003 * 14 34 0 34
OXHE X & AHS 61,000& * 14 61 0 61
OXHAS (MHELEZH) 94,000& * 14 94 0 94
O&Ooel gXiel X 100,000& = 14 100 0 100
Zoel =eldy <00 XA 7,470,000& = 14 7,470 0 7,470
O=sZe gs22 406,000 * 14 406 0 406
(OF§1 E=y 34,327,000& * 14 34,327 0 34,327
OFlots= 5,424,000& » 14 5,424 0 5,424
OFL 2 =H| 17,000& * 14 17 0 17
OFe S5 &Hd| 42,0003 * 14 42 0 42
O=g"3t R2 =l 1,145,000& » 14 1,145 0 1,145
OXNSAS MEIA SEAALS 38,0004 * 14 38 0 38
(OFAF=1—IN 594,000 * 14 594 0 594
OJ =S A ML 6,986,000& * 14 6,986 0 6,986
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S A 112 0l Ak
M THRES (120 Aa)

CHo B RS (ol @)
SN TSR (BH) - NRAY - BES 04 o ol o HRE2
O=e0|z===X SXAHIA 231,000& * 14 231 0 231
O eI=XAIE SESA4H| 731,000& = 14 731 0 731
O =XAlE stE=SH| 330,000 * 14 330 0 330
OL=XAIE SAL SE=H 960,000 * 14| 960 0 960
OMI=Q=XAIE SAL SE=E 1,390,000& = 14 1,390 0 1,390
O =20IMY 1,403,000 = 14 1,403 0 1,403
Okons=+% 3,904,000 * 14 3,904 0 3,904
Oogte 353 28 1,685,0008 * 14 1,685 0 1,685
O2EAEHIIEHNU AZ23 1,150,000 = 14 1,150 0 1,150
OAadadIE SEM=H 425,000 * 14| 425 0 425
Oad@aF{He X& 378,000 * 14| 378 0 378
OHEAE =X 63,000& * 14| 63 0 63
ORESOsZLEXE HEXE 101,000& = 14 101 0 101
OJtEfIEotsd2sz N& 206,000 * 14 206 0 206
OAld0ls HEE= 30,0008 * 14 30 0 30
OAlE0ls 423 P 240,000 = 14 240 0 240
OOts=XNAIE =3l 4,376,000& * 14| 4,376 0 4,376
OO0s=XAIE SALL SE=H 3,190,000& = 14| 3,190 0 3,190
OXE0otsdE Ots=S X WALKIA 2,004,000& = 14| 2,004 0 2,004
Ooggots =< K& 225,000 * 14 225 0 225
OESsA4 24dl X& 26,183,000& = 14l 26,183 0 26,183
oEsg N&E 719,000 * 14 719 0 719
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S A 112 0l Ak
M THRES (120 Aa)

CHo RIS ELEEEED)
SN TSR (BH) - NRAY - BES 0l st ol o HRE2
O05 HIZotAU TUHSHHHEDII AME(E A AIE]) 2,760,000& = 14 2,760 0 2,760
O06 XIHS3tA (Dt E&Z IIXIH X&) 34,0008 * 14 34 0 34
006 XIAESAIS (R WAIEGHSA RIA) 1,163,000& * 14| 1,163 0 1,163
006 XIGESAIS (08 &) 240,000 * 14| 240 0 240
006 XIAESAL (HASETHEHSH X &) 1,512,000& * 14| 1,512 0 1,512
006 JIS2 HIEZEE HMAHEZH 21,748,000& * 14 21,748 0 21,748
O06d =2 (23 M1 6=+l 9,345,000% * 14 9,345 0 9,345
006 HHZ=ALOFAE X ALY 6,000,000& = 14 6,000 0 6,000
006 QI af M AT B H ALY 5,210,000& = 14 5,210 0 5,210
Ol )|ty 480,000 * 14| 480 0 480
O0eE =4 1loh At 19,501,000& * 14 19,501 0 19,501
O06E FTAJI=S K& XS HE ALY 3,017,000& =14 3,017 0 3,017
O06 AIZ20 OIUXIZEZ AAEAS 1,040,000& * 14 1,040 0 1,040
O06 =Ll OIxtEdZ 91,518,000& * 14! 91,518 0 91,518
0074 t==(81) M=2Uloh =7H 1,649,0008 = 14 1,649 0 1,649
O07d Hdat)|etxd 1,848,000& = 14 1,848 0 1,848
oord =1t SENssHAEd 7,320,000& * 14| 7,320 0 7,320
Ogtuga dedsd=s Mg N2 7,420,000& * 14| 7,420 0 7,420
Odgs B DM SHHiHl X3 AL 24,593,000 = 14 24,593 0 24,593
O06 M2 MEAIE AEAY 60,000,000& = 14| 60,000 0 60,000
O07 &l&td AEA=E MMXS 336,000& * 14 336 0 336
005 =4Il ol =4l 144,746,0008 * 14 144,746 0 144,746
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A=A A

M THRES (120 Aa)

Cre BENE EGHE)
SN HM . ER(BH) - NTAY - B2 03] & o I & o HmZ2

005 =&1Iloh Mol=8A= 0IXAEHS 141,133,000& * 14 141,133 0 141,133
SOHA Mok - AL 300,000 = 14 300 0 300
Ot SEAY 822,000 * 14| 822 0 822
O E F2LI0tMel HILX& 11,0008 * 14| " 0 11
006 E=IIEAEsIHSEA 12,500,000& * 14 12,500 0 12,500
O07 =AY 82,000& * 14| 82 0 82
OSSN AXAIE 720,000 * 14 720 0 720
Ottekar THHHE R =4 2,400,000 = 14 2,400 0 2,400
ONAS NE2Fi=#H 801,000 = 14 801 0 801
Os322AY X& 329,000 * 14| 329 0 329
Ox=Esd=s ¢dd FMHE 231,000 = 14| 231 0 231
OsttE =2=7Hl AEAY 1,188,000 = 14 1,188 0 1,188
O06 etz 8N SEALS 8,656,000& * 14| 8,656 0 8,656
O F=A&EHIAS 129,000 =14 129 0 129
OUHAWNFHAl HAt=E 21,0008 * 14 21 0 21
ORI AIIZA oA 3,408,000 = 14 3,408 0 3,408
OScliid uw=hl 189,000& = 14! 189 0 189
Os2dusgukt 0] 202,000 =14 202 0 202
OB EANE 72 100,000& = 14 100 0 100
Ok= Z=2&J| uH 200,000& * 14 200 0 200
(@FAF=NelFSESha] 8,202,000& * 14 8,202 0 8,202
Oy ==24gH| 109,000 = 14 109 0 109
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S A 112 0l Ak
M THRES (120 Aa)
CHo B XX =

- SHRI(BAH) - NEAY - BE=

i
ot

O O O O O O

2 W = oo

W o0 MO <2

0z 4T = [P
o4 4T 0=

n =

O
0z
2
e

O95AI 0l

0z
0

OHS2XHEYIAS
O=ZH&& 2

=
=z 40

10

= 2

=

H0  x
op
=
114

b
g

e
i

1,937,000&
196,000&
91,000
2,241,000&
11,000&
4,269,000&
239,000&
4,320,000
2,000&
602,000

14,000,000

1,642,000&
600,000
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